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If you wanted to use the work/energy theorem, you would have to determine the
amount of work gravity did as the motorcycle went from y, = 5m to y .= unknown
meters. In fact, you’d be trying to determine the unknown y. Noting the m’s cancel:
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What you were asked to do, though, was to approach the problem without using
kinematics or the work/energy theorem. The only other way to do it is to use the
re-jiggering of the work/energy theorem that comes in the form of the conservation
of energy. Doing that yields (note that the masses cancel):

ZKE1 + ZUI + Zvvcxnmncuuc = ZKEz + 2U2

1 1
Emvl2 +(mgy,)+ 0 = EmvmpZ +(mgymp)
1, 1
SV H(Ey) Ve
= VYeu
g
l(35 m/s)’ +(9.8 m/sz)(S meters)—l(33 m/s )’
Lo, 2 2
Yiop

(9.8 mvs?)

= Yip=11.94 meters




